PAPER-II
MANAGEMENT

Signature and Name of Invigilator

2. (Signature)

(Signature)
(Name)

(Name)

Ell 7 HNE

Time : 1"/, hours]

OMR Sheet No. :

Roll No.

(To be filled by the Candidate)

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

PN

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.
This paper consists of fifty multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) To have access to the Question Booklet, tear off
the paper seal / polythene bag on the booklet. Do not
accept a booklet without sticker-seal / without
polythene bag and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example : (3) ()

where (C) is the correct response.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper 1 Booklet only. If you mark
at any place other than in the circle in the OMR Sheet, it will
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry duplicate copy of OMR Sheet on
conclusion of examination.
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10. Use only Blue/Black Ball point pen.
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MANAGEMENT
Paper — 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. All questions are compulsory.

The hypothesis that ‘consumption in 4. Arrange the fol!o'wing in the proper
one period would be a function of order .for decision under capital
income in that period and the returns budgeting.
on savings of the previous period’ is (i)  Estimating the cost and
given by benefits of proposals.
. . (1) Decidin the  investment
(A) Irving Fisher objectivg
(B)  Franco Modigliani (iii) Selecting the best investment
(C) Duesenberry ‘ propl()s:al. N 1 budec
(D) Robert Hall (iv) App ymgt e §ap1ta udgeting
decision technique.
Codes :
From the following identify one (A) (?) (%V) (1) (1}1)
which is not a property of (B) (P) (I,V) (1'11) (1)
Indifference curve ? © () (@) (>v) (i)
D i i) (i) (v
(A) Indifference curves are @) @ o ) W)
downward sloping. 5. Match the following items in

(B) Indifference curves are concave
to the origin.

(C) Indifference curves are convex
to the origin.

(D) Indifference curves do not
intersect each other.

Which one of the following
statements is true ?

(A) Business decisions cannot be
taken  without a  sound
knowledge of Macro Economic
Theories.

(B) Knowledge of Economic
Theory is misleading in making

List — A with the most appropriate
options from List — B :
List-A List-B
a. A lender buys 1. Interest
securities to rate collar
protect himself
from a falling
interest rate
b. A borrower buys 2. Interest
securities to rate cap
protect himself
from rising
interest rate
c. A combination 3. Interest
of interest rate rate
cap and floor corridor
d. A combination 4. Interest

business decisions. 9f two or more rate floor
interest rate caps

(C) With the help of Economic Codes :
Theories, it is always possible a b c d
to predict the future accurately. (A) 2 4 3 1

(D) Every Economic Theory is (B) 4 2 1 3
based on realistic facts which ) 4 2 3 1
are common to all societies. (D) 3 2 1 4

Paper-11 J-17-13
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The form of learning in which people
acquire new behaviours by systematically
observing the rewards and punishments
given to others is known as

(A) Operant conditioning

(B) Positive reinforcement

(C) Modelling

(D) Law of effect

Diffusion of routine information
takes place through

(A) Downward Communication

(B) Upward Communication

(C) Horizontal Communication

(D) External Communication

An integrated group of activities to
bring about a change is known as

(A) Organisation development

(B) Interventions

(C) OCTAPACE

(D) Collaborative culture

Match the following :

a. Motivation is a 1. Expectancy
function of Theory
fairness in social
exchanges.

b. People are 2. Alderfer’s
motivated to ERG
behave in ways Theory
that produce
valued outcomes.

c. Determining 3. Equity
specific levels of Theory
performance for
workers to attain
and then striving
to attain them.

d. When people are 4. Goal-
frustrated by their Setting
inability to meet Theory

needs at the next
higher level in the
hierarchy, they
regress to the next
lower category of
needs and
intensify their
desire to gratify
these needs.

Codes :

a b c d
(A) 1 2 3 4
B) 4 3 2 1
C) 3 1 4 2
D) 3 4 1 2

Paper-11

10.

11.

12.

13.

Match the following :

a. Self- 1. Determining
efficacy specific  levels
of performance
for workers to

attain them.
b. Goal 2. The belief that
setting one’s efforts

will  positively
influence one’s
performance.

c. Expectancy 3. People strive to
maintain ratio
of their own
outcomes to
their own inputs
that are equal to
that of those
with whom they
compare
themselves.

d. Equity 4. One’s belief

Theory about  having
the capacity to
perform a task.

Codes :

a b c d
A 1 2 3 4
B) 4 1 2 3
) 3 4 1 2
(D) 2 3 4 1

Human resource planning system
includes

(A) Human resource supply forecast
(B) Human resource inventory

(C) Corporate plan

(D) All of the above

Who among the following propounded
the concept of collective bargaining ?
(A) Beatrice and Gompers

(B) Beatrice and Emerson

(C) Gompers and Emerson

(D) Gautt and Gompers

What are the benefits of human

resource planning ?

(A) Achieve economy in hiring
new workers.

(B) Match personnel activities and
future organization objectives
efficiently.

(C) Improve the utilization of
human resources.

(D) All of the above
J-17-13
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14.

15.

16.

17.

Human Resource

includes

1.  Employee Grievance
2. Organizational climate
3. Job incentives

4. Recruitment

5. Selection

Select the correct answer from the
following :

(A) 1,2,3and 4

B) 1,3,4and>5

(C) land5

(D) All of the above

Management

Match the following :

a. Job 1. Determining
Analysis worth of a job.

b. Job 2. Examining how
Evaluation work adds value

to the ongoing
process.

c. Job Design 3. Determining the
pertinent facts
about the job.

d. Work Flow 4. Organizing

Analysis work into the
tasks required to
perform a
specific job.

Codes :

a b c d

A 1 2 3 4

B) 4 3 2 1

<) 3 1 4 2

D) 2 3 1 4

Which ratio explains that how much
portion of earning is distributed in
the form of dividend ?

(A) Dividend — Debt Ratio

(B) Equity — Debt Ratio

(C) Pay-out Ratio

(D) Earning — Yield Ratio

Modern approach to financial

management is

L. The total fund requirement of
the firm.

II.  The asset to be acquired.
III. Payment of dividend to

shareholders.
(A) Tonly
(B) M only

(C) 1 &III only
(D) LI&II

Paper-11

18.

19.

20.

21.

Participating preference shares are
those which participate in the
(A) general meeting of the company

(B) voting
(C) profits over and above their
fixed dividend

(D) management of the company

Which of the following is one of the

critical assumptions of Walters’

Model ?

(A) All financing is done through
retained  earnings;  external

sources of funds like debt or
new equity capital are not used.

(B) The retention ratio, once
decided upon, 1is constant.
Thus, the growth rate, (g = br)
is also constant.

(C) The capital markets are perfect
and the investors behave
rationally.

(D) All of the above.

This consists of two lists of
statements or terms and the candidate
has to match an item in one list with
an item in the other :

List-1 List-I1
(Statement) (Terms)
a. Preventing 1. Management
hostile takeover buyout
b. Leveraged 2. Green mail
buyout
c. Accounting for 3. Pooling of
merger interest
d. Financing for 4. Cash offer
merger
Codes :
a b c d
A) 1 2 3 4
B) 2 1 4 3
< 2 1 3 4
D) 3 4 2 1

What kind of pricing strategy a firm
should normally follow for marketing
electronic goods ?
(A) Penetration pricing strategy
(B) Skimming pricing strategy
(C) Cost plus pricing strategy
(D) All of the above
J-17-13
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22.

23.

24.

Which fact is true about on-line

marketing ?

(A) A website which is user-
friendly.

(B) A website which 1is user-
friendly and regularly updated.

(C) A website which is user-
friendly, regularly updated and
make  product’s  graphical
image available.

(D) A website which 1is user-
friendly, regularly updated,
provides product’s graphical
image and product’s price is

competitive.
Which of the following function
involved under marketing
management’s function ?
1.  Collection of market
information

2. Marketing coordination
3.  Marketing controlling
4.  All the above

Codes :

A 1&2
B) 2&3
(C) 3only
(D) 4 only

Two statements are given below :

Statement — I : Product concept of
marketing holds that consumers
would favour those products
that are available and highly
affordable.

Statement — II : Production concept

of marketing holds that
consumers would not buy
enough of the company’s

product unless the company
undertakes a substantial
promotional effort.

Choose the correct option from the

four options given below :

(A) Statement I is correct and II is
wrong.

(B) Statement II is correct and I is
wrong.

(C) Both statements are correct.

(D) Both statements are wrong.

Paper-11

25.

26.

27.

Match the following :
List-1 List-IT
a. Differentiation 1. How familiar
and intimate
consumers

are with the
brand.

b. Esteem 2. The degree
to which a
brand is seen
as different
from others.

c. Relevance 3. How well the
brand is
regarded and
respected.

d. Knowledge 4. The breadth
of a brand’s

appeal.
Codes :
a b C d
A 1 2 3 4
B) 2 3 4 1
<o 3 4 1 2
(D) 4 3 2 1

Work measurement refers to

(A) the length of time it takes to
complete a work task assigned
to a specific job.

(B) improving work methods.

(C) arrangement of  machines
according to operations.

(D) planning the work and working
for the plans.

Facility planing includes

(A) Determination of production
capacity

(B) Determination of production
facilities location

(C) Determination of the layout

(D) All the above

J-17-13
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28.

29.

30.

31.

Match the following :

a. For fractionor 1.
proportion of
defects

b. For number of 2.
defects

c. Fornumber of 3.
defects for unit

d. For monitoring 4.
process
variability

Codes :

R-chart

C-chart
nP-Chart
P-Chart

d
4
1
3

—RhNDWO

2

Statement — I : One of the major
causes of the industry for larger
capacity is the argument that
large facilities facilitate greater
economies of scale. But the
major concern for building big
capacity is that funds will be
tied up or scarcity of funds.

Statement — II : A viable alternative
to larger capacity production
facilities is to develop sub-

contractor and supplier
networks.

(A) Both statements I & II are
correct.

(B) Both statements I & II are
false.

(C) Statement I is correct and II is
false.

(D) Statement II is correct and I is
false.

In a symmetrical distribution

(A) Mean, Median and Mode

values are identical.

Mean, Median and Standard
Deviation are equal.

Mean, Median and Correlation
are equal.

None of the above

(B)
©
(D)
From the following, identify the test

which can be used both as parametric
and non-parametric ?

(A) “t test
(B) °F’ test
(C) “Chi-square’ test
(D) “Wil-coxon’ test

Paper-11
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32.

33.

34.

3S.

Arrange the following in ascending

order in the testing of hypothesis :

(1) Determining the level of
significance

(i1)) Deciding the Statistical Test
and computation

(ii1) Setting the hypothesis

(iv)

Codes :

Decision

(A) (1), (i1), (1) and (iv)

(B) (ii1), (1), (i) and (iv)

(©) (), (ii1), (i1) and (iv)

(D) (1), (ii1), (iv) and (i1)

Y =a+ bX refers to

(A) Y = independent variable, a = slope
of the line, b = Y intercept and
X = dependent variable

(B) Y = dependent variable, a = slope
of the line, b = Y intercept and
X = independent variable

(C) Y = independent variable,
a = dependent variable, b =Y
intercept and X = slope of the line

(D) Y = dependent variable, a =Y

intercept, b = slope of the line

and X = independent variable
Select the most appropriate option
from Column B against the items in
Column A :

Column A Column B
a. Computer usedto  1.Components
operate large of
corporate systems information
and databases system

b.
c.

Data flow diagram 2. RAID
Equipment, proce- 3. Structured
dures and end user design
Codes :
a b C
(A) 3 2 1
B) 2 3 1
<o 1 2 3
D) 2 1 3

According to Michael Porter, a strategy
aims at producing products and
services considered unique industry
wide and directed at consumers who
are relatively price-insensitive is
known as

(A) Cost Leadership — Best Value

(B) Differentiation

(C) Focus — Low Cost

(D) Focus — Best Value
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28.

29.

30.

31.
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32.

33.

34.

3s.
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(i) T % WX & R
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(iii)  TTeRReaT ST e

(iv) form

&<

(A) (i), (ii),() 3 (iv)

(B) (i), (),(ii) 3R (iv)

(©) (@), (i), (i) 3T (iv)

(D) (), (iii), (iv)*R (i)

Y-a+bx ¥ fmmae
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c. JURLFMARTUS  (iii) Sregert
TR T
&
a b c
(A) (i) (1) (1)
(B) () (i) (i)
©) (@) @Gy (i)

(D) (@) (@) (i)
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e U A 37 Yareit SIS Bl §
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(B)
(C) o — = @
(D) W — FAT god

Paper-I1



36.

37.

38.

In context of Industry Analysis
which matrix allows strategists to
summarise and evaluate economic,

social, cultural, demographic,
environmental, political,
governmental, legal, technological

and competitive information ?
(A) EFE Matrix

(B) CPM Matrix

(C) BCG Matrix

(D) IFE Matrix

Which among the following best
describes the process of gaining
competitive advantage in a firm ?

(A) Strengths — Weaknesses —
Distinctive Competencies —
Competitive Advantage

(B) Weaknesses — Strengths
Distinctive ~ Advantages
Competitive Advantages

(C) Weaknesses — Strengths —

Distinctive Competencies

Competitive Advantages

Distinctive Competencies

Weaknesses — Strengths

Competitive Advantages

_)
%

(D)

Ll

According to Porter, the nature of
competitiveness in a given industry
can be viewed as a composite of the
following five forces :

1. Rivalry among competing firms.

2. Potential entry of new
competitors.

3. Potential development of
substitute products.

4. Bargaining power of suppliers.

5. Bargaining power of consumers.

Identify the force which is central

(most powerful) to remaining four :

(A) Potential development of
substitute products.

(B) Potential entry of
competitors.

(C) Bargaining power of consumers.

(D) Rivalry among competing firms.

new

Paper-11

12

39.

40.

41.

42.

Match the following :

Organizational Advantage
Structure
a. Functional 1. Clarity of project
Structure objectives
b. Divisional 2. Smooth
Structure delegation of
authority and
responsibility
c. Matrix 3. Simple and
Structure unexpensive
d. Strategic 4. Ease of fixing
Business accountability
Unit (SBU)
Codes :
a b C d
A) 1 2 3 4
B) 3 4 1 2
< 3 4 2 1
(D) 4 3 1 2

A sound business opportunity is the

result of appropriate interaction

between :

(A) needs of the society

(B) capabilities of an entrepreneur

(C) resources available in the
environment

(D) all of the above

“An entrepreneur always searches for
change, responds to it and exploit it
as an opportunity.” Who said it ?

(A) F.W. Taylor

(B) Peter F. Drucker

(C) J.R. Tulsian

(D) Max Weber

An industrial unit, according to RBI,

is sick if

(A) incurred cash
previous year.

(B) likely to incur loss in the
following year.

(C) current ratio is less than 1 : 1
with weak debt-equity ratio.

(D) all of the above.

loss in the
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36.

37.

38.
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40.

41.

42.
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©
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(C) 1.3, TAa=
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HISTT ST 1: 1 & |
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43. Which is not the
Entreprencurship
Programmes ?

(A) To create successful entrepreneur

(B) To remove  doubts of
entrepreneurs and to give
solutions to the problems

(C) To create awareness
Government  schemes
programmes

(D) None of the above

44. Match the following :

a. Central 1. Deals with
Manufacturing paper industry
Institute

b. Central Pulp
and Paper
Research
Institute

object of
Development

about
and

2. Deals with
pollution
control in
Indian
Tannerics

c. Central leather 3. Deals with

Research Machine Tools
Institute
d. Electronic 4. Deals with
Service and training,
Training Centre  technical and
consultancy
services
Codes :
a b c d
(A) 1 2 3 4
B) 3 1 2 4
<) 2 3 4 1
D) 4 3 | 2

45. The customer joining the queue and
leaving it afterwards is defined as
(A) Jockeying
(B) Balking
(C) Reneging
(D) None of the above

46. Which among the following is not
correct with regards to Clause 49 of

SEBI Act ?
(A) It came into effect from 31%
December 2005.

(B) Clause 49 is related to the
Listing Agreement to the
Indian Stock Exchange.

©C) It desires 50
independent Directors.

(D)

percent

47.

48.

49.

50.

None of the above
Paper-11
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Which of the following powers of

Directors cannot be exercised

without the consent of shareholders

in General Meeting ?

(A) Power to make
shareholders

(B) Power to make loans

(C) Power to buy back its shares

(D) Power to borrow monies
exceeding the aggregate of the
paid-up capital of the company
and its free reserves.

calls on

The professional having high ranking
and trained to uphold the highest
standard and effective operations,
compliance and administration as
corporate governance, is known as
(A) Directors of Company

(B) Chairman of Company

(C) Company Secretary

(D) Shareholders

Governance is the system of values,
policies and institutions by which a
society manages its economic,
political and social affairs through
interactions within and among the
state, civil society and private sector

is defined by
(A) World Bank
(B) UNDP

(C) European Commission
(D) None of the above

Match the following with regards to

environmental ethical issues :

a. Ozone 1. Lead poisoning
Depletion

b. Environmental 2. Deforestation
Health

c. Logging 3. Food
controversies
d. Genetic 4. CFC
Engineering
Codes :
a b c d
(A) 4 2 1 3
B) 4 1 2 3
<) 4 3 2 1
(D) 4 3 1 2
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43.

44.

45.

46.
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47.

48.

49.

50.
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